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For we expound each one as a Klal uPratt by itself

OVERVIEW

The X3 asked that birds should be excluded from 992 since (some of) the o°v7D
include animals whose carcasses are Xwn21 yand Xnvn and MW are not ¥ XL
Xwn2). And even though one of the °v1o is 79w (which is not Xwn21 ¥ana Xnwn),
nevertheless since we expound each v individually, therefore regarding live
animals those 2079 exclude birds. MdOIN reconciles our X723 which claims that
each v is expounded individually with other nm723 who expound all the a°v7»
together as one unit.

nooIN asks:
- znmu "VI9 1S 19°UHT 9021 HNN *2) lm‘pb NI 99NN ONY

And if you will say; but later regarding the 5751 v91 9% in the p109 of f©277 NNy,

we expound all the 2>©95 as one, and we do not expound them individually -
- 2payn 233 (0w v a1 PYITPT RNDP P92

And in the first pap of PwITP NO0N regarding 7PV we also interpret the >"913 there
as one unit not as individual 0°v19, so why here by 995 do we expound each v individually?

N1B0IN answers:
= YW Yy Y HY M0 JY NIV HY 291575 XV YIN HY 29N 1129 9199 U

And one can say; that here by 793 it is different, since by each v15 the 77 writes

the word »p, as it is written ;725w 5 7w Y 99n YY MW BY; this extra word 5y -
= 1PWA) YANA NV 1N 1N D3 WITI1ID NI NynRY

teaches us to expound each and every v1p individually.

mooin offers an alternate answer why each ©v79 is expounded individually:
= MDY LYNDY NPWOI AN RV N DD YTINIY 19 NN TN DY ) ON

Or you may also say; perforce we need to expound each ©v95 individually in

order to exclude birds from %> -
- XYM 7YMINY NNYY 21N 2099 179191 PINYY 391 INY INT

For if it is not so (but rather all the 2°v79 are expounded as one unit, then), the

! Later on this Tny.
* If we would expound them individually, we would also exclude M1y from X1 92 as we are doing here by 995.
? fpavn is the bonus which the master pays his 12y 72 (or 7°12y7 7nX) when they go out free. The 7790 writes ( 2127
72,00 [[X%7]) that "1 (593) 7972 WK (079) FAP MY T30 TIREN (992) 19 PUavn pavn.
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7710 should be silent from all the 2°v72 and only write the v15 of 7»%w and no

other* 1o -
- 55991 V9 Y991 BN 9P DN 12 BN Y9¥3 173 999 93 NN NNYWNT

For we can derive from b2, through a 2", the %90 2vn by all objects
whether they are living creatures or whether they are not living creatures —

Moo responds to an anticipated difficulty:
- %5593 X9 DN 9¥3 NNT DIWUNT

For just because they are living, that does not make them worse than inanimate
objects, so they should be excluded from 99>. Therefore since the 77N saw fit to mention so
many 2°v79 it stands to reason that each v75 is to be expounded individually and subsequently
exclude maw.

mdoIN anticipates a difficulty:
=915 NNNVM INJAIY 92T YOI VY9N NN NN NYPNYI NHINNA XYY

And now that we are saying that the reason we expound each v75 individually, is
because otherwise there is no need for all the 2°v7», so initially when the X923
asked; ‘and let us say just as the v1p specifies something whose carcass causes
FIRMMY, etc.’, so we should exclude mowW; instead of asking this question -
= TyanN NOWYD 79915 281 M
The X132 could have asked a different question -
= 15 9990 SYVNN 127 YNONM VDN NI PIINNT 421DV NN %Y
According to what the X713 assumes (before the question on M9W) that just as the

ou"p specifies something movable and has intrinsic value (which would include

mow), for we expound all the 2°v79 as one; if this is what we assume; the X3 could have asked -
= 5099 INY Y91 PINYD NIINY NNHY NIN 2INIY NY

* We cannot ask the same question regarding 1w Tw¥» (where the 2°079 are 72wa) 1°21 1X¥ Np23) or regarding 7RIV
(where the a°v19 are 3P 71731 JIX¥N) why are all the 0°v7d necessary, because (as the X3 states in X,7 PwITP
regarding pavn) if it would only state XX (or XX 72 by w"v»n) we would think it is only 2»n *%v3, and if it would
state 73731 (or 715w 1 by w"vn) we would think it is only ¥pap °217°3 but not 0>n *9v2. [Regarding the duplicity of pa
IR (or 1OV 1) by 1w Wy, see 0"nn.] However here we are asking that it should only state one v19, namely 79nw.
See (however) qwn nom.
> One may ask if the 770 would have just listed 757w, we would just include inanimate objects similar to a >w, but
not live animals. M»d01n rejects this notion.
® The presumption is that animals are a limited category in the universe of ‘things’. Therefore if the v19 is an animal,
that would exclude inanimate objects. However if the v5 is an inanimate object, that is considered a ‘thing’ and
animals are included in ‘things’. Animals are a subset of things (717w); however things are not a subset of animals.
7 See ‘Thinking it over’.
¥ The actual question (to exclude Mmo1) assumes that each v1» is expounded individually (otherwise m2w would be
included on account of n7W).
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The 770 should not write all the other a°wms, but rather only the v1o of mnbw
alone.” The x5 could have asked this question.

mooIn responds; the reason the X713 asked the actual question regarding M=y, for -

SN PN MINY 119 I1999RT NUPNRY 0799919 1Y XMTY XN NN
Rather it was preferable for the X771 to ask this question regarding n91v, which
asks that even what you stated that birds are included is not true!

SUMMARY
We expound each v19 individually when either there is an extra word (like %v)
accompanying each v15, or where all the 2’075 save one are superfluous.

THINKING IT OVER
Is there any advantage in asking Mmoo proposed question'' ( 9w X9X 21N3% K9
7 712) over the actual question the X7n3 asks (X n9w 9ax)?'?

? Since the Jwpn who is asking is aware that we expound each v79 individually (otherwise there is no question that
we should exclude mo1w), and the reason we expound each v individually is because the other o°v19 (besides 17w)
are superfluous; so the X3 could have asked directly why are all the 0°v15 necessary!
!0 The ®n»"3 stated that we include all that are 7197 19131 Yuoun (which includes m»w); had the X3 asked (as NooIN
proposed) why are all the o°v79 needed, it would be a valid question but it would not directly conflict with what the
Xn»71 stated; however now the X713 is asking directly on the Xn13; how can the Xn»72 say that the 2"1913 includes
MW when we understand that each 179 is expounded individually and m21¥ are excluded!
' See footnote # 7.
2 See footnote # 9.
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